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MCA/45/50
MASTER OF COMPUTER APPLICATION
SECOND SEMESTER
CONCEPTS OF OOPS
MCA —-202
( Use Separate Answer Scripts for Objective & Descriptive )
Duration : 3 hrs. Full Marks : 70
( PART-A: Objective )
Time : 20 min. Marks : 20
Choose the correct answer from the following: 1X20=20

1. Which component is used to compile, debug and execute the java programs?

a. JRE b JIT

c. JDK d JVM
2. Which of the following is correct about static variables?

a. Static functions do not support polymorphism

b. Static data members cannot be accessed by non-static member functions

¢. Static data members functions can access only static data members

d. Static data members functions can access both static and non-static data members
3. How run-time polymorphisms are implemented in C++?

a. Using Inheritance b. Using Virtual functions

Usi d. Using Inheritance and Virtual
sing Templates R 3
unctions

4. Which of the following is true about the anonymous inner class?

% It has only methods 2 Objects can't be created

c. d. It has no class name

It has a fixed class name

5. Wrapping data and its related functionality into a single entity is known as

a. Abstraction b. Encapsulation
¢. Polymorphism d. Modularity
6. What does the expression float a = 35 / 0 return in Java?
a. 0 b. Nota Number
c. Infinity d. Run time exception
7. What is the syntax of overloading operator + for class A?
a. A operator+(argument_list){} b. A operator[+](argument_list){}
¢. int-+(argument_list)(} d. int [+](argument_list)(}

8. Explanation: Friend function is not a constructor whereas others are a type of
constructor used for object initialization.
Which of the following is correct?
a. Base class pointer object cannot point to a derived class object
b. Derived class pointer object cannot point to a base class object
¢. A derived class cannot have pointer objects
d. A base class cannot have pointer objects
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